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Dolomite - TWA : &t28{Z , STEL : A2 8l&

=4 78 Hydroxypropyl methylcellulose - TWA : At2 QS , STEL : A= QS
Iron oxide - TWA : 5 mg/m’ , STEL : -
Portland cement - TWA : At=8l& , STEL : A2 QIS

Dolomite - TWA : At2Ql2 , STEL : AtRQ2

ACGIH 773
Hydroxypropyl methylcellulose - TWA : A28l , STEL : A2 QS
Iron oxide - TWA : At2 QS |, STEL : At2 QS
Portland cement - A2 S
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Portland cement INI=R =
Dolomite RS
Hi
a4l Hydroxypropyl
=R
methylcellulose
Iron oxide =R
24354 NS INE=RYE=S
Portland cement HEAS
=0l Dolomite NS
Hydroxypropyl xzole
methylcellulose
I[ron oxide LD50 () : >5.05 mg/kg
NS NEAS
Portland cement o &Xt=
OEHAN £ X224  |Dolomite INR=REE= s
Hydroxypropyl Xz ole
methylcellulose
Iron oxide E7)|,OECD Al&7I0|E2}R1404 ; H[EXt=S U=
NS =R =
Portland cement =54
At LM £ X2 |Dolomite 2 A=
Hydroxypropyl xtzole
methylcellulose =S
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X‘”% XI-E HAEI
Portland cement HEAS
SE7|0taly Dolomite 2 US
Hydroxypropyl xzgle
methylcellulose
Iron oxide OF2 X[ANSAY RIS S
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il | gl
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Hydroxypropyl Xz ole
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oo luazs
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Portland cement INE=R4ES
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Iron oxide INE=R% e

MNE AEYS

Portland cement INE=R% e

OSHA Dolomite NEQUS
Hydroxypropyl xzge

ot i methylcellulose

Iron oxide IR

HE EAUS

Portland cement IR

ACGIH Dolomite INE=RerE=
thyledlose AE88

Iron oxide 2SS

MNE INE=RHE )

Portland cement INE=REES

%SQ_}{E Dolomite INE=RS18=
etcelliore AEeg

Iron oxide INE=R% e

HE INE=RYe =S

%%i%_‘?‘_ Portland cement INI=R =
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Hydroxypropyl xzgle
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Portland cement ==
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Hydroxypropyl xzge
methylcellulose
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methylcellulose
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Hydroxypropyl = oo
methylcellulose M2 8IS
Iron oxide ==
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7} MEfEM
X-” % XI-E HA EI
Portland cement NEAS
Dolomite INE=RYe=S
Hydroxypropyl

LC50 2540000000 mg/L 96hr

methylcellulose

Iron oxide LC50 (M| E2tm|4]);>50000 mg/L 96hr
& INEERHES
Portland cement Az
2Hzt2 Dolomite HEUS
Hydroxypropyl

EC50 1640000000 mg/L 48hr
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Iron oxide INE=Re e
NZ ISR
Portland cement INE=RYe=S
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Hydroxypropyl

EC50 675000000mg/L 96hr
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Ct 42 554
M= INE=RYE=S
Portland cement =S
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